Slug48: Corrected RMS (ppm): asym_usl
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Slug48: asym_usil:

égr _Grzeg (ppm)
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Lagrange Corrections Width (ppm) by Eigenvectors
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Slope (ppm/um)
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Slug48: Slope : usl_vs _evMon0 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slug48: Slope : usl_vs _evMonl (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slug48: Slope : usl_vs_evMon2 (ppm/um) Idit_slope - Ireg_slope| (ppm/um)
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Slope (ppm/um)
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Slug48: Slope : usl_vs_evMon3 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slug48: Slope : usl_vs_evMon4 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slug48: Slope : usl_vs_evMon5 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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